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YAAL: Rl ooy galdel issLapLsld 6.

PART -1

AL WAL S1ESURL AL WHIAL Yellol @l :

-~

1. GURAML [[8RL dUIRL 56, 23U 21 (Bl 2ude 5R5R1-L 2L 531

2. AL 2Adw)sR0L 2A2d 8] ¢ dell 2AHE, AL A ARG oRUdl.

3. GURAHL RAUMIRL 6181l $IHO{IR] 247l UHRARAL UL

4. GURAHL AUMIRL GisIAL APIASRELAL BBl orRlLdl drL elleiletet 2Rl

5. AwuslAlla-Al 2] anodl, d-l il 2l s

6. R ols 2l S Avausla ALl URHIBIEHS A d[RUcHS UeALAL AL 531

7. SRHI0V 212 4?7 IR sHIOALAL AHIHLRAL v gLl

8. GURAML SRARLAL HIOTAIML 2RAEL YHIRL ALl
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PART - 11

9. MCQ : AR SR AIRAL A1 [Aseu ueE $3U

(1) el UFLAA =L LA edl.
(a) 1950 (b) 1952
(c) 1956 (d) 1957

(2) [ B B2al [QetarHL AL A1 € ?

(a) =8l (b) AR

(c) W™ (d) Ad
(3) Rl oilEo1 AL A8 HIZL AHRU 8.

(a) NPA (b) R

(c) v (d) Al 25Ul A
4) Rl gl olsil 1 AU UL 8.

(a) SBI (b) HDFC

(c) RBI (d) ARl AsueL Al

(5) ‘e AwliAl Gl sy 2il.” 4L [Axiid 5161 583 € 2

(a) ML ¢S (b) ML (s

(c) ML 384 (d) Al iRl &
(6)  GURCHL ARl Alel KSR ULsalAL SRl ols WAL .

(a) BOB (b) SBI

(c) RBI (d) il 25Ul S
(7)  @isil 24198 YRl ARL AR 8.

(a) U (b) Ut

(c) wilazla (d) (B

(8)  GURAML GSTL 2He sl el U3 2L 2
(a) 2015 (b) 2016
(c) 2017 (d) 2018
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PART -1

Write any three question answer :

Discuss the quantum, nature and direction of Foreign trade. 14

What is import substitution ? State its implementation, advantages and disadvantages. 14

Discuss the working of commercial bank and its problems. 14

State the aims of the nationalisation of commercial banks in India and discuss its
advantages & disadvantages. 14

Explain the meaning of monetary policy and discuss its objectives. 14

Discuss the quantitative and qualitative resources of monetary policy of the Reserve

Bank of India. 14
What is tax-structure ? State the limitations of Indian tax structure. 14
State the reforms done in tax-structure of India. 14
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9.  MCQ : Choose the correct options : (Any Four)

(1

2)

)

4

)

(6)

(7)

(8)
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Gorwala committee was constructed in —
(a) 1950 (b) 1952
(c) 1956 (d) 1957

In how many parts, the countries of world are divided ?
(a) three (b) four
(c) five (d) seven

One of the great problems of Indian Banking System is
(a) NPA (b) Credit
(c) Defict (d) None of these

is included in the banks of Private Sector.
(a) SBI (b) HDFC
(c) RBI (d) None of these

Who was made the statement that the purpose of stable money is not practical ?
(a) Prof. Hyek (b) Prof. Mid
(c) Prof. Kyens (d) None of these

The monopoly of issuing currency notes is of

(a) BOB (b) SBI

(c) RBI (d) None of these
Tax on income earned by people is known as tax.
(a) direct (b) indirect

(c) progressive (d) regressive

From which year GST was implemented in India ?
(a) 2015 (b) 2016
(c) 2017 (d) 2018
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AL WAL S1ESURL AR WHIAL Yellol @l :

1. Roed ols 20g S Aousl Al WRHRUCHS 24 alicHs Ul Ul 531 14
2. uowsn ALl GRell avwuel de [Clas ULl 2l s30. 14
3. GURAHL 5% A RAARIAL ALRUSRL Aol Hedtis s3L 14
4, QRML AWML clerel 2R 14
5. ufa ARAEAAL 2 AL, dded 23U 21 @giell UL 14
6. AN AAEAAL A2 iU $RR1RL AL 14
7. R AAL 2 A, GURARL UL AL AL Ul 14

8. ARRURHL U AloreiAl Hua Sl oveudl, 2ABRURHL dudr{ Aler-iAL dauisi-l
(cord Hu&dl 2. 14
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9.  MCQ : R SLE5RL AIRAL A [dAseu udE $3U

(1) ols3e ARRYAL U0l .
(a) URSIR— RBI (b) RBI - duIxl ¢is
(c) AURLols — ARl Gis (d) Rl ols — elsl

(2)  SIAEL HI=L UAlRAlML 551 2edl

(a) SLR (b) CRR

(c) RR (d) il 25Ul A
(3)  dRHLAINMRUAL [y Al et ug AU el

(a) [dovusass (b) AL 2RI

(c) 2L2AH. V2Rl (d) 3.l dd
(4) R USR-AL 1A 8.

(a) A (b) =L

(c) AR (d) il 25Ul S

(5)  gEdl 2ulctAl 58 URERAAA S1IRQL Ut & 2

(a) AR (b) UMY
(c) Glles (d) RArslA

(6) AL AUEA, 53 URAN HeTad 6 ?

(a) gl (b) UMY
(c) UHA (d) il 25Ul

~

(7) A AR A ALAL AU 5L Sl ?

(a) 1950-1955 (b) 1951-1956

(c) 1956-1961 (d) Uil 25Ul e
(8)  cAcHiA YU AR AAL YL 5SAIA 6.

(a) U (b) g

(c) AR (d) il 25Ul S
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Write any three question answer :

1.  Discuss the quantitative and qualitative resources of Monetary policy of the Reserve

Bank of India. 14
2. Mention the objectives of Fiscal policy and discuss its various resources. 14
3. Evaluation of the financial relation between the centre and states in India. 14
4.  Discuss in detail on recommendations of 13" Finance Commission. 14
5. Define Disaster Management and explain nature and characteristics of it. 14
6.  Discuss about rescue operation of Disaster Management. 14

7. Explain the meaning of planning and describe the lessons of Indian Economy Planning. 14

8.  State the main purposes of Eleven Five Year plan and discuss in detail the target of
Eleventh Five Year plan. 14
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9.  MCQ : Choose the correct options : (Any Four)

(1)

(2)

3)

(4)
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(6)

(7)

(8)
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Bank rate shows relationship between
(a) Government — RBI (b) RBI — Commercial Bank

(c) Commercial — Commercial Banks (d) Commercial Bank — Public

Statutory liquidity ratio is
(a) SLR (b) CRR
(¢) RR (d) None of these

was chairman of 13 Finance Commission.

(a) Vijay Kelkar (b) C.Rangarajan
(¢) A.M. Khusro (d) K.P.Pant
Panchayats are of types.

(a) two (b) three

(c) four (d) None of these

What are the causes for the occurrence of natural disasters ?
(a) Man-made (b) Social
(¢) Geographic (d) Political

Which factor is important is disaster management ?
(a) Money (b) Society
(c) Time (d) None of these

Which is the time period of the First Five Year plan ?
(a) 1950-1955 (b) 1951-1956
(c) 1956-1961 (d) None of these

The present time is the time of planning.
(a) True (b) False

(¢) Uncertain (d) None of these



